— No.151-10-1 —
No.151-10-1 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 5+5= (2) 27+ 6 =
(3) 4+2= (4) 31+ 6=
(5) 17+3 = (6) 27 +3 =
(7) 17+2= (8) 37+ 6=
(9) 29+ 3= (10) 19+ 6 =

— 13th-note —



— No.151-10-1 —
No.151-10-1 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 5+5=1 2)27+6= 4+++3
(3)4+2= 2 4)31+6= O++-1
(5) 17+3= D2 6)27+3=9

(1) 17+2= 8--+-1 (8) 37+6= 6-+--1
9)29+3= 9.2 (10) 19+6= 3+--1

— 13th-note —



— No.151-10-2 —
No.151-10-2 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 19+2= (2) 26 +3 =
(3) 18+ 7= (4) 8+ 4=
(5) 22 +5 = (6) 44+ 5=
(7) 25+ 4 = (8) 10+3 =
(9) 2+2= (10) 45+ 5=

— 13th-note —



— No.151-10-2 —
No.151-10-2 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 19+2= 9-.-1 (2) 26 3= 8<++2
(3)18+7= 2---4 (4) 8 +4= 2
(5) 22+5= 42 6) 44+5= 8+++4
(7)25+4=6---1 8) 100+3=3---1
9 2+2=1 (10) 45+5= 9

— 13th-note —



— No.151-10-3 —
No.151-10-3 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 24+3 = (2) 39+7=
(3) 8 +2= (4) 55+ 7=
(5) 42+ 6 = (6) 54 +9 =
(7) 65+7= (8) 4+2=
(9) 26+ 8 = (10) 35+ 8 =

— 13th-note —



— No.151-10-3 —
No.151-10-3 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 24+3= 8 (2) 39+7= H---4
(3)8+2= 4 (4) 55+7= T+++6
(5) 42+6= 7 (6) 54+9= 06
(7) 65 7= Qoo (8) 4+2= 2
(9) 26+8= J+++2 (10) 35 8= 4+++3

— 13th-note —



— No.151-10-4 —
No.151-10-4 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 27+ 6 = (2) 15+2 =
(3) 12+4= (4) 18 +3 =
(5) 28+ 7= (6) 72+9 =
(7) 18+ 5= (8) 40+ 6 =
(9) 57 +9= (10) 28 +4 =

— 13th-note —



— No.151-10-4 —
No.151-10-4 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 27+6=4+++3 2) 15+2= T++-1
(3)12+4= 3 (4) 18+3= 6
(5) 28+7= 4 6) 2+9= 8
(7) 18+5= 3 +++3 (8) 40+6= 6---4
9) 57+9= 6-+++3 (10) 28+4= 7

— 13th-note —



— No.151-10-5 —
No.151-10-5 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 41 +6 = (2) 25+6 =
(3) 30+ 4= (4) 8+7=
(5) 33+5 = (6) 7T+2=
(7) 20 +4 = (8) 37 +7=
(9) 17+2= (10) 24 +9 =

— 13th-note —



— No.151-10-5 —
No.151-10-5 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 41+6= 6+++9 2)25+6=4---1
(3) 30 4= T+++2 (4)8+7=1---1
(5)33+5= 6¢+++3 6) 7+2=3---1
(7) 20+4= O (8) 37+7= He+e2
9)17+2= 8---1 (10) 24+9= 2+++6

— 13th-note —



— No.151-10-6 —
No.151-10-6 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 36+ 5= (2) 27+4=
(3) 30+ 4= (4) 15+3=
(5) 28 +3 = (6) 46+ 6 =
(7) 49+ 9 = (8) 7+4=
(9) 45+ 5 = (10) 8+ 3 =

— 13th-note —



— No.151-10-6 —
No.151-10-6 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1)36+5= T+++1 2) 27+4= 6+++3
(3) 30 4= T+++2 (4)15+3= 5

(5) 28+3= 9..-1 (6) 46 -6= T +++4
(7) 499+9= 5-++4 &) 7+4=1---3
9) 45+5=9 (10) 8+3= 2+++2

— 13th-note —



— No.151-10-7 —
No.151-10-7 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 43+ 6 = (2) 17+3=
(3) 16 +2 = (4) 2+2=
(5) 27+ 5= (6) 12+2 =
(7) 13 +4= (8) 83+ 9 =
(9) 21+ 5= (10) 46 + 6 =

— 13th-note —



— No.151-10-7 —
No.151-10-7 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 43+6= T++-1 (2) 17+3= D+ 2
3) 16+2= 8 (4)2+2=1
(5) 27T+5= Do+ 6) 12+2= 6
(7)13+4=3---1 (8) 83+9= 9.2
9 21+5=4---1 (10) 46 6= T+++4

— 13th-note —



— No.151-10-8 —
No.151-10-8 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 11+6 = (2) 6+6=
(3) 40+ 7 = (4) 41 +5=
(5) 4+3= (6) 54+ 6 =
(7) 38+ 5= (8) 36+ 7=
(9) 28+ 3= (10) 11 +7 =

— 13th-note —



— No.151-10-8 —
No.151-10-8 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 11+6= 1-++d 2)6+6= 1
(3) 40+7= He++H (4 41+5=8-+-1
(5)4+3=1---1 (6) 54=6= 9
(7)38+5= T+++3 8) 36 +7= D1
9) 28+3= 9-..-1 (10) 11+7= 1-:-+-4

— 13th-note —



— No.151-10-9 —
No.151-10-9 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 5+2= (2) 22+ 5=
(3) 16 +2 = (4) 48 +5=
(5) 23 +3 = (6) 22+ 3=
(7) 47+ 6 = (8) 33+ 5=
(9) 64+ 8= (10) 7+ 3=

— 13th-note —



— No.151-10-9 —
No.151-10-9 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 5+2= 2---1 (2) 22+5= 42
3) 16+2= 8 (4) 48+5= 9+ 3
(5) 23+3= T +++2 6) 22+3= T++-1
(7) 47+6= T +++D (8) 33+5= 6-+++3
9) 64+8= 8 (10) 7+3= 2---1

— 13th-note —



— No.151-10-10 —
No.151-10-10 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1) 10+7= (2) 6+2=
(3) 14+ 5= (4) 12+4=
(5) 13 +2 = (6) 49+ 5 =
(7) 9+3= (8) 58 + 6 =
(9) 24+ 3= (10) 35+ 5=

— 13th-note —



— No.151-10-10 —
No.151-10-10 ( ) ( g )

WOFEZ LSV, RYDBBITZA BRIV, (11110 &)

(1)10+7=1+--3 2)6=2= 3
(3) 14+5= 2---4 (4) 12+4= 3
(5) 13+2= 6-+--1 6) 49+5=9+..-4
(7)9+3= 3 (8) 58+6= 9-+-4
9) 24+3= 8 (10) 35+5= 7

— 13th-note —



